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QUESTION 1

Which three are true about implementing a best practice solution for Financial Reporting Compliance? (Choose three.)
A. Large scope of project requires high effort for maintenance and administration.

B. It promotes rapid implementation and go-live.

C. It promotes go-live with minimal acceptance testing and user training.

D. It provides maximum return on investment with minimum project risk.

E. It promotes successful adoption and minimizes on-going cost of operation.

Correct Answer: BDE

Reference: https://www.slideshare.net/DaneRoberts/oow16-implement-the-best-practice-for-oraclefinancial-reporting-
compliance-cloud

QUESTION 2

You are advising your client on design and configuration related to how access incident results will be viewed and
managed. The client has provided a list of business requirements: Incident results can be viewed by Department
Groups of investigators receive assigned incidents based on Department Must ensure systematically that no incident is
unassigned to an investigator

Which three must be configured to support these requirements? (Choose three.)

A. Worklist assignment Result Investigator should be set to specific users.

B. Custom perspective for Department linked to the Results object with Required set to "No"

C. Custom perspective for Department linked to the Results object with Required set to "Yes"

D. Investigators are assigned job roles with custom Department perspective data roles attached. Other incident users
receive job roles which only allow viewing of incidents.

E. Investigators are assigned job roles with custom Department perspective data roles attached for managing incidents.
Other incident users are assigned job roles with custom Department perspective data roles attached for viewing only.

F. Worklist assignment Result Investigator should be set to "All Eligible Users"

Correct Answer:. ADF

QUESTION 3
The internal auditor advised the Control Owner of North America to perform assessment for two P2P

controls.
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Which three steps can the Control Owner perform to kick-off assessments for only those two controls?
(Choose three.)

A. Initiate a planned assessment that includes all controls assigned to perspective P2P.

B. Perform impromptu assessments for the two controls.

C. Enable impromptu assessments during configuration of module objects.

D. Initiate a planned assessment and include the two controls as part of the same assessment.

E. Initiate two planned assessments, one for each control.

Correct Answer: ACE

QUESTION 4

You build an access model with two entitlements. Each entitlement has four access points. The
entitlements do not have any access points in common.

How many access point combinations will be analyzed?

A.20

B. 16

C.8

D.4

E. 25

Correct Answer: C

QUESTION 5

Which filter can be used to identify expense reports that contain suspicious expense type combinations, such as, a

report for a single trip that contains taxi, car rental, and mileage expenses?

A. Inclusive function filter grouped by the "Expense Report Information" object\\'s "Report Number" where the "Expense

Type" has an "Equals" condition for values that include taxi, car, mileage.

B. Inclusive function filter grouped by the "Expense Report Information” object\\'s "Report Number" where the "Expense

Type" has an "In" condition for values that include taxi, car, mileage.

C. Inclusive function filter grouped by the "Expense Report Information” object\\'s "Person” where the "Expense Type"

has an "In" condition for values that include taxi, car, mileage.

D. Inclusive function filter grouped by the "Expense Report Information” object\\'s "Report Number" where the "Expense

Type" has an "In" condition for values that include taxi, car, mileage.
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E. Inclusive function filter grouped by the "Expense Report Information” object\\'s "Person" where the "Expense Type"
has an "In" condition for values that include taxi, car, mileage.

Correct Answer: D
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